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If you need to prepare your students for a standardized test based on the Common Core, this
“erash course” is exantly what you need!

When I realized that my students had to take the state test during the first week of April, 1
knew it would be impossible for me to cover all of the material to prepare them for the test!
S0, I created this review and am hoping that it will, at the very least, familiarize them with
concepts and help them to be successful!

This review consists of “crash course™ reviews, examples, and practice problems for each of
the following common core standards:

The Number System

*» Enow that there are numbers that are not rational, and approximate them by rational
numbers. CCS88 MATH CONTENTS.NB.A 1-2

llpummlul Eguations
Work with radicals and integer exponents. CC8S MATHCONTENTSERB A 1-4

* Dnderstand the connections between proportional relationships, lines, and linear
equations. CCBEMATH.OONTENT.8 RE.B.6-8

» Analyze and solve linear equations and pairs of simultaneous linear equations.
CC8S8. MATH CONTENT 8 BE.C.Y

Functions
* Deflne, evaluate, and compare functions. O088.MATH CONTENT.8.F.A 1-3
» Use functions to model relationships between quantities. 0088 MATH.CONTENT.8.F.B4-5

eaomctry
Understand congruence and similarity using physical models, transparencies, or
geometry software, CC88 MATH.OONTENTA.G.A.L-§

* Dnderstand and apply the Pythagorean Theorem. CO88. MATH.CONTENT 8.0 BE.8-8

*  Solve real-world and mathematical problems involving volume of cylinders, cones and
spheres. CCA8.MATH.OONTENT8.0.0.9

Statistics and Probability
= Investigate patterns of association in bivariate data. 0C88 MATH QONTENT.S.BPA1-4

To make this review more authentic, many of the practice problems are “released items” from
standardized testing websites. These problems have been made available to prepare our
students for the test. Ispent a significant amount of time grouping the items according to
each standard and creating reviews that focus on the specific content. Problems have been
modified and revised to increase rigor.
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The Number System (8.NS.A.1&2)

Know that there are numbers that are not rational, and approximate
them by rational numbers.

2 A Rational can be written as the ratio of twa integers (a simple fraction).
A rational number terminates (ends) or repeats when written in decimal form.

1.5 is rational, because it can be written as the ratio 3/2
7 is rational, because it can be written as the ratio 74
0.333... (3 repeating) is also rafional, because it can be writlen as the ratio 1/3

An Irrational number cannot be written as the ratio of a simple fraction.
An irrational number does not terminate or repeat when written in decimal form.

T = 3.1415926535897932384626433832795 (and more...)
You cannot write down a simple fraction, sa it is an irrational number.

J50 = 7.07106781187...
When the number inside the s not a perfect square, the number is irrational.

Approximating a Square Root to the Nearest Integer (Whole Number)
Estimate V75 to the nearest integer.

lhsssnsssnnssbhasssassssncssssscscsnnsssscssnnssnnssasnsdessssnassssscscsnnsnnnssnsssnnasseneed

1. Find the two perfect squares the number falls between. J75
2. Decide which is closer to the given number (circle it). T\
3. Find its square root. Vo4 Qﬁ o

J75=9
Approximating a Square Root to the Nearest Tenth
Estimate V75 to the nearest tenth.
1. Plot the two perfect squares the given number falls between. (/64 and &1 )

2. Plot the number you are estimating. (/75 )
3. Using the midpoint of the number line as a guide, estimate to the nearest tenth.

Sincey/75 is to the right of the midpoint. it will be higher than B.5.
So, a reasonable estimate would baV75 =86 or 8.7

=02 =038

= |

* Notice the pattern when the denominatoris "9".

]
L]
1
1
L]

im CofMeld 22016 hittpe-ifwww. leacherspayteachars.comiSlora'Math-Class-Rocke



- e L - - --

The Number System (8.NS.A.1&2)

Enow that there are numbers that are not rational, and approximata
them by rational numberg.

===y
Lesosand

e A Rational can be writtan as tha ratio of iwo integers (a simple fraction).
A rational number terminates (ends) or repeats when wrillen in decimal form.

1.5 is ralional, because it can be wrilten as the ratio 3/2
7 is rational, because it can be wrillen as tha ralio 74
0.333... (3 repeating) Is alsa ratienal, because Ii can be writlen as tha ratio 1/3

An [rrational number cannol be written as the ratio of a simpile [raction.
An Irrational number does not terminate or repeat when wrillen in decimal form.

7T = 3.1415026535897932384626433832795 (and more...)
You cannot wrile down a simple fraction, so it is an irational number.

J50 = 7.07108781187...
When the number inside the /' Is nol a perfect square, the number is Irrational,

proﬂm:ﬁunamu mummwmm&«)

Estimate 75 to the nearest integer.

1. Find the two perfecl squares [ha number falls between. J1s

2. Decide which is closer 1o the given number (circle it). TN

3, Find its square root. Vot '\"E_)
V15 <9

Approximating a Sgquare Root to the Nearest Tenth
Estimate /75 to the nearest ienth.

1. Plot the wo perfect souares the aiven number falls belween. (Vo4 and V&1 )
2. Find the difference between the lower perfact square and the cne you need to find. (75 - 64)
3. Find the difference between the two perfact squares. (81 - 64)
4. Write a ratio. (11/17) 75
5. Divide and round to the nearest tenth. (11/17 rounds to 0.6) 11 s
6. Aftach the decimal to the lower perfact square. N —
V64 481
b T
The square root of 75 will fall between 8 and 8. 17
The decimal 0.6470... will round to 0.8, so the
estimate to the nearest tenth is 8.6 " = 0.6470...
Common Repeating Decimal Equivalents
,l. 3 2 o7 L .5 2_4n5 0P
3 03 - 0.6 9 (W] > 02 - 0.8

* Noties the pattern when the denominator ie “9°.

L e e e L T |

B R R e I :"*-

l.co-..0.-.oﬁl.0».l-».coovc.--.-.-.--..-voo..4-.Qoolﬁoco.&c.-.l..-..n.‘
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@& TheNumberSystem (8.NS.A.1&2) s
E Solve each problemn. You may NOT use a calculator for this set of problems. E
R s B Y e A S s e S S e il SR e J
0000 0. 0 W

6 Tha length of the diagonal of a rectangle is
V181 inches. Which statement describes the
length of the diagonal?

/ A. The length is betwe, 12 ; ‘ﬁ\@
he length is between 13 and 14'Inc

-—-gb. The length is between 14 and 15 inches.
B, : .

e length is between 15 and 16 inches.

---
|

igthe square of 1697

L

)

X
M.

33, 0=

15. Estimate the ofJog e number
line below. n

Kim Coffleld 22016

N (1L Yoo Y
o W mes 9

» 2. Which of the following are NOT rational
'  numbers? (Choose all that apply.)

[erreccccccsnacnnnnnn~

+4. Write 04 as a fraction in simplest form.
L]

3
~10

Cesssacsssscsnnncsnnssann - - ee

ES. Estimate /] 30 to the nearest tenth.

o
N
==
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- The Number System (8.NS5.A.1&2) -
L] L]
. Solve each problem. You may NOT use a calculator for this set of problems. :
L L]
l------'---------.------'-I---------'--..'.-----.------I-.-------I-J

AR R LR R L L R R L R R R Al L L e L L L R LR R R

: 1. The length of the diagonal of a rectangleis ;2. Which of the following are NOT rational -
- V181 inches. Which statement describes the - numbers? (Choose all that apply.) -
« length of the diagonal? ' |
L] L] L}
: e :
v A The length is between 12 and 13 inches. | {t} V5 :
L] ] "
: @The length is between 13 and 14 inches. + B. 0.666 '
.\ ] '
(] ] "
{ C. Thelengthis between 14 and 15 inches. | C. :
] L] ]
+  D. The length is between 15 and 16 inches. + D. -30 -
L] | ] 1
: " "
.--.--ﬂ---.---------..--.--..-.---h----.-._ﬂ.---..-.--.-----.-----.-‘
+3. What is the square of 1697 : 4. Write 0.4 as a fraction in simpiest form. -
L] L] L]
L] ] 1
" L] L]
1 1 - '
. A1 - A, 10 .
' BS : - -
: ¢ B :
 (C)zmser T :
: ' (o) 4 :
' D. 28730 : \(_:> = -
L L] Ll
L] L] ]
' L] ” i
: : D = "
' ' s '
(] L] ]
bemememceccceccccccccccceccceo——- R TR T -
:5 Estimate the Iocahon of V94 on the number ' 6. Eshrnate Ji3o to ma nearest tenth '
v line below. ' '
] [} ]
: V81 Jioo : -
. : :
L] L] L
L] L] L
[ ] ] L]
SR = o o o B o e e g ; 1.4 :
L] ] L]
. 8 ? 10 ' ’
L] ] L}
‘ 1 "
. L] L]
L] ] L
L] L] L]
L] L] L
L] [ ] i

lscscsssacsssscsnascsssnssvsnsscssscssnscssscsnacssncsnnasssnsvenssasnsssanuad
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Expressions and llquaﬁuns (B.ll...l. 1-4)
Work with radicals and integar' exponants.

Rules of Exponents
To multiply. add the exponents. 4542 =4
To divide, subtract the exponents, 8% + 9 =9¢
To raise a power {0 a power. multiply the exponents. (642 = 69

Negative Exponents
4T 3 44= 43 = I - _I—
4 o4
Scientific Notation
7,300,000 1. Place a decimal at the end.

2. Mave left until there is one number in front of the decimal point.

Because it started as number less than one, the exponent is
negative, On your caiculator, it may look fike this 7.3E+6

0.000205 1. Move the decimal right until there is one number in front of it.
2. Multiply by 10. The exponent is the number of times you moved the
205 x 104 decimal. Because it started as number less than one, the exponent is

negative. On your calculator, it may look like this 2.05E-4

3.891 x 107 When the exponent is positive, move the decimal to the right.

39,910,000 Add zeros if necessary. (In this case, you'll have to add 4 zeros.)

58x10° When the exponent is negative, move the decimal to the [eft.
0.0058 Add zeros if necessary. (In this case, you'll have to add 2 zeros.)

Operations with Numbers in Scientific Notation

(3.5 x 104)(2.1 x 103) = 7.35 x 10! Multiply the coefficients and add the exponents.
(8.4x 109 = (21x102) =4x107 Divide the coefficients and subtract the exponents.
(705 x109) +(1.92x 109 =897 x 10°  Acd the coefficients and keep the exponent.

Ox107)-(425x10-) =475 x 107 Subtract the coefficients and keep the exponent.

When adding or subtracting. the exponents must be the same. This is how you can change the
exponent when adding or subtracting or rewrite your answers in proper scientific notation.

Moving the decimal to the left, adds 1o the exponent. 425x10°=425x 108

Moving the decimal to the right subtracts from the exponent, 0.672x 10" = §,72 x 10°

Kim Coffield 2016 hupefiwwiw. lescherspayteachere.comi Slore/Mat-Class-Rocke

7.3 x 108 3. Multiply by 10. The exponent is the number of times you moved the decimal.
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' Expressions and Equations (8 E!.A. 1-4) .
| (Radicals and Integer Exponents) .
; Solve each problem. You may NOT use a caloculator for this set of problems. .

4

» 1. Which expressions are equivalent to 56 x 532 | 2. Which of these expressions represent .
' (Choose all that apply.) *  solutions to the equation y*=27. Choose !
' +  all that apply. '
T e (58)9 3 g . ;
' 13 ' ooy 2ies '
' V=27 I 3 -3 '
] ' L]
' 5 : [l
. 52 53 g8 — '
L} 5 : L}
n ] L

3. A carpenter bought 850 nails. Each nail 4. The figure below shows the mass, in grams,
has a mass of 5.2 x 10-°kg. What is the total of several samples of cells. The spreadsheet
mass, in kilograms, of the nails the carpenter automatically converts them into scientific
bought. Express your answer as a decimal. notation. How many times larger is Sample

D than Sample B?
A 616 E -5
B 3.75E-6
c 8.00E -10
D 750E-5

e S S S S ———

T T e upepE R e
' 5. Which expressions are equivalentto - 3 {4 E 6. The distance from Mars to the Sun Is

+  Choose all that apply. 37 +  1.416 x 10® miles. The distance from Earth
. + 1o the Sunis 9,296 x 107 miles. How many
7 A 39 v more miles is the distance from Mars to the
' *  Sun than the distance from Earth to the

' v Sun?

\ B.37 '

: t A 486410

! Coa i B. 7.880 x 10'

' 3 '

' " v C. 4.864 x 107

(] D. — '

‘ & \ D. 7.880 x 107

L] [ ]

L n
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L d

. Expressions and Equations (8.EE.A.1-4)

‘ (Radicals and Integer Exponents)

. Bolve each problem. You may NOT use a calculator for this set of problems.
L

I I I ]

1
L
L]
L
1
1

4

: 1. Which expressions are equivalent to 5 : 2. Which of these expressions represent

' (Choose all that apply.) ' solutions to the equation ' =27. Choose
' ' all that apply.

' 5‘!I ]

L] 5'.‘5\3) b (] =

: $ E =)

: Sﬁ :

1 53 — ]

: £
*-------------------..--.--.----":.'-'-.-.------'.---.--------'-.--
13. Acarpenter bought 850 nails. Each nail '4. The figure below shows the mass, in grams,

has a mass of 5.2 x 10 + of several samples of cells. The spreadsheet
mass, in kilograms, of the nails the carpenter ;  automatically converts them into scientific
bought. Express your answer as a decimal. notation. How many times larger is Sample
D than Sample B?

616 E-5

850(5.2 x 109)
4,420 x 103
4.420

375E-6

800E-10

glo|m|*

750E-5

2 x 10" or 20 times larger

L]

L]

L

L]

L]

]

L]

"

L]

L]

L]

L]

L]

]

L

L

]

L]

n

L]

L]

L]

L ]

]

L]

L]

L]

L]

] ]
"‘--.-I-.--I..---.I-..-III.--.I.-.-.h-..-...-..-.-'..l..--...-.....l.
]
'
L]
L]
'
L]
L]
L]
L]
)
L]
L]
L]
L]
L]
]
1
L]
L]
'
]
]
L]
]
]
L]
-
K

. Which expression is equivalent to 32 16. The distance from Mars to the Sun is
3-:

1.416 x 10

to the Sun is 9.296 x 10

mare miles is the distance from Mars to the
Sun than the distance from Earth to the
Sun?

A. 4864 x10

B. 7.880x 10

&z
D

D. 7.880x 10

FesssesssssssssssesssnnsenessbonsnesnsereesnssesresssenseansenerissnsneraseRERSEE "
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Expressions and Equations (8.EE.B.5&86)

=
"
"
i
Understand the connections between proportional relationships, 3

lines, and linear equations. -:

- .- - - - - ----- .. - - .

Slope of a Line

The slope of a line represents the constant rate of change. It may also be
referred to as the unit rate.

The graph shows a change of 594 every 2 weeks, therefore the
constant rate of change (or slope) is $47 per week.

F

v
RateofChange ==
X

Total Savings i)
28 3

This graph can be expressed by the equation y = 47x, whare
x is the number of weeks and y is the total savings. The constant

s £

Equations and Slope of a Line
The slope (m) of the line is the number muitiplied to “x". It shows the constant rate of change.

|
y=5x y=2x-10 y==—x+3

m=5 m=2 m=

'
] []
] L]
‘ "
L] L]
] L
' '
L] [
" "
L] L
L] [
' '
L] L
] L
] 1]
: rate of change (or slope) is always the number multiplied to *x". |
L H
L] L]
" "
] ]
" "
" '
" '
L] L
: ‘
e 4 0 P 6 S o SR e S 5 0 S 0 e 5 0 e MO S o i ST 2
\ Slope-Intercept Form: y*mx +b .
' An equation is writien in siope-intercept when it is solved for "y". The “m" is the slope of the line !
| and the "b” is the y-intercept.
L]
'
]
'
L]
L]
]
L]
"
]
L]
L]
"
L]
L}
"
]
L

Equations and Graph of a Line
To write an equation for a line, choose twa points and find the slope. Then find the point where
the line crosses over the y-axis (the y-intercept). Replace these numbers in y =mx + b.

VerticalChange 5
Sj'npr e
HaorizontalChange < *

y-intercept =5

i .
y=-2x+5

| \
 EEAEPEEL KN

Sakibn poo |

lg. 1| 1 IMJ]
¥

Aline that siants downward, from Aline that stants upward, from
left 10 right, has a negative slope. left to right, has a positive slope.

Cassssncsenssssssnasssnanssennesnnenasbeasas
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- Expressions and Equations (8.EE.B.5&86) :
. (Understand the connections between proportional relationships, lines, -
: & linear equations.) ~
- Solve each problem. You may use a calculator, but must show all of your work. :

1. Find the unit rate for a. gallon of gas at each gas station. Use this information to
determine which station charges more for gas, Shaworexplainyourwork.

Gas Station P Gas Station M 20

1 Ll Y- L
J | | | | 5 | 19.00

i L 10| 38.00
8w /_ 15| 57.00

P //
| - / - ' 4
| /./ . . .

7 i 2 } 4 3 ® ' i & 18
Amount of Gasoline (galflons)

N
- —
J
=y
P L
%
=<

“"- ch graph represents the equation y = -2/3x + 17

e

3. Which of the following equations have the same slope as the line graphed below?

mts # #3

y*3+2x =2 y=3/2x+6

. quation 1 only

B. Equation & only

Q. Equations 1 and 2

D. Equations 1 and 3

D L e L L L L L L L T
essssssssnesesssesssnsssnsssh ssasssssnsnnsnnssnnssnnsssbhscsssssasnssasnnsssnnasnssnnasas

s ssssssssesssssss eSS ESSSEEsESNEEeEsESESseSRSeEsESseeessnneseneeseesssd
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' 4. You decide to start saving money. You start with $0 and after 8 weeks, you have $120.

- —
-

hNumber of Doilam Saved

'57(

_.}_ 1

made in order to make this prediction.

B

b. Explain what the glope of your line
represents.

129 _ §15

You're not sure how muach you save each week, but assume that you saved your money
at a constant rate from when you started through the §th week.

a. Create a graph that can be used to model the
amount of money you saved (¥) in x weeks.

du Save WS per week

Bill's Trip

L-..-.---.-.--....---.-.--.--—-..--

Kim Cofteld 82016

information about the trips.
b -
A
Which sentence correctly compares _ 110
the rates at which Bill and Kevin & 109 |-
drove on their trips? J 3
y - £
4. Bill's rate was 10 mph slower § 3
thank Kevin's rate. .E s
's rate was 10 mph faster g ‘]“;
hank Kevin's rate. ] B
Q
K Bill’s rate was 20 mph slower 10
thank Kevin's rate. i
D. Bill's rate was 20 mph faster
thank Kevin's rate.

(hours

=55%nm

]

¢. Explain how the graph you drew can be used to predict the number of weeks it will
take you to save $160. Include in your explanation any assumptions that must be

5. Bill drove his car at a constant rate of speed while on a trip. Kevin drove his carata
different constant rate of speed while on the same trip. The graph and table show

Kevin's Trip
Dustance
(hours) | om Home
0 0 |
F 50 |
3 135
5 225
-] 270

ph

-.---..n-.-n-.---J

httpe/frwiw. isacherapayteachers.com/StoreMath-Clasa-Rocks
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PoemmemesmemesssmssssssssssssnsssEssE S EssnEss s s RS E ey

1 8. A model train is traveling at a constant rate of 0.76 meter per second when Lucy starts
a stopwatch, Create a graph that represents the relationship between t, the amount of
time since Lucy started her stopwaktch, and d, the total distance the train has traveled
during that time.

Is the slope of line segment AB congruent to
the slope of line segment CD? Clearly explain

ﬁt“ﬁ ) B0, U)

y
&
-7

TR L L L L I e R

< = " : - B
-2
=! o=F
-
-R n
:
et 4
: 8. During a 10 minute science experiment, the temperature of a subsance decreases ata.
T co te. Which graph gg#resents this s ne .
] ]
: / :
] = rv3 ] - N
& ¥ A g 3 '
S A i :
: w &0 E m-_ e b | — B S ‘L‘_ — E.._‘ol-—.. :
|
E %n Em E%n """'? Egzo \'\1 E
E - = R 69 bt & ok i Te 24680 o 248 810 .
né
E (minutes) mm‘m i (..L".T..; (n;:l:cn E
]

Kim Cafl'lelcf mms hupufumw leacherspayteama:s convSmra'Mam-Chaa-Roda



- EEEEEEEE R EE e E eSS E SR T eSS e e R .

Expressions and Equations (8.EE.B.5&86)
{Understand the connections between proportional relationships, lines,
& linear equations.)
Solve each problem. You may use a calculator, but must show all of your work.

L R B B B R R - e
(A A R B R R AR E R LN B L LA R R LA R A L LELR L LA R LR RN RS ERESEELRERE LN R LLLERELLEERLLELRL RN}

1. Find the unit rate for a gallon of gas at each gas station, Use this information to
determine which station charges more for gas. Show or explain your work,

Gas Station P
¥

7%, <3 I | Gas Station P = $4.00/gallon

o I choge two points of interaection an tha graph.
- (B, RO) and (10, 40).
. - 20/6 = 4 and 40/10 = 4, g0 the unit rate is $4.00
2 e
-m
%n P Gas Station M = $3.80/gallon
,; - $19/6=53.80, $38/10 = $3.80. 867/15 = $3.80

13

10 7,1, R D Gas Station P is more expensive!

a t 3 1 4 58 s "

Amount of Gasoire [pafors)

3. Which of the following equations have the same slope as the line graphed below?

A {, #1 #2 3
. i :/!:::: 3-34& yna y-s,fax-rﬂ
- - - } ......

% 7 . .Equa.binnlanh

N EEEFE) AREEEK

INESNE -ENENNNE B. Equation 3 only

il

1T/ 1
*.;N‘ ...... C. Equations 1 and 2

D. Bquations 1 and 3

N R R R R N I R ]
Lesssnssssscsssnnsssnsssnssshscscsncsssnsnssnsssssssnnsssslbcscscsncsnsnssnnnssnsssnscssnsncsssnd locnnesss

I L L T T T
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: 4. You decide to start saving money. You start with $0 and after 8 weeks, you have $120.
You're not sure how much you save each week, but assume that you saved your money
at a constant rate from when you started through the 8th week.

7
I £ a. Create a graph that can be used to model the
aaf- / amount of money you saved (y) in x weeks,
" r
g ! / b. Explain what the slope of your line
e "l i represents.
3 ol ’
5 ” l A The slope of the line represents the
2 . [ amount of money that was saved each
5 .j | 1' m
H
n— m=§18
L | 1‘

B v 72 3 4 8 378 RW NN W
lupmier of \fieeis

c. Explain how the graph you drew can be used to predict the number of weeks it will
take you to save $150. Include in your explanation any assumptions that must be
made in order to make this prediction.

The graph could be extended beyond the 8th week. When extended, you find
that it would reach $ 150 at week 10. Another way to use the graph is to find
the slope, which is a rate of change of $15 per week, and solve the equation
18x = 1560 where x is the number of weeks.

5. Bi]ldravehiswatamnsbmt.mteofspeedwbﬂeonshnp Kevin drove his car ata
different constant rate of speed while on the same trip. The graph and table show
information about the trips.

Bill's Trip
Which sentence correctly compares _ 110 ;.
the rates at which Bill and Kevin £ 100 T T Kevin's Trip
drove on their trips? o o Distan
g 80 T | {r‘:;:ﬁi from: Ho;:te
A. Bill's rate was 10 mph slower £ :2 ' - [m"‘;"
thank Kevin's rate. E so | | i = 5 =
'smtewas 10 mph faster £ Wl il - -
thank Kevin's rate. § 20 ‘ : T
C. Bill's rate was 20 mph slower » i R
thank Kevin's rate. 0 i 2 9 & Kevin = 46 mph
D. Bill's rate was 20 mph faster vE—
thank Kevin's rate. Bill = 55 mph

R R R R R R R
'.--..-...-.-.-.-ﬁ--.-.....*‘-‘-....-.‘....---..-‘.-.-..-‘-.‘ﬁ-.--ﬂ---..-‘-.‘
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: 8. A model train is traveling at a constant rate of 0.78 meter per second when Lucy starts
a stopwatch, Create a graph that represents the relationship between t, the amount of
time since Lucy started her stopwatch, and d, the total distanoe the train has traveled
during that time.

G '

L R R B B R B

7. On the coordinate plane below, points A, B, C, and D lie on the same line.
¥

Is the slope of line segment AB congruent to
the slope of line segment CD? Clearly explain
your answer,

The slope of segment AB is -6/23.

[ 753 37 i 39358 75]" Theslopeof segment of CD is -3/1.

-3

-3 Both slopes simplify to -3, therefore
" they are congruent.

=7

8. During a 10 minute science experiment, the temperature of a subsance decreases at a
constant rate. Which graph represents this situation?

A, B. ( c.} D.

%b i- - -
“a - :
~—~—— By
g 20 | E b 5 20 |- g o p
0 2 4 ¢ 8 10 e o 2 4 6 8B 10 0 2 4 6 8 10 [ 2 4 6 & W
Tane Time Tima Time
{minutes) {minutes) (minutas) (minutes)

--....----.--.--&&-----Q-.-.-----‘-.-.-‘-I-‘--.‘-.--‘.--b-.-.-ﬁ-ﬁ-‘--.

Tﬁé .'é’ﬂﬁ'ﬁ".'“"""“".""""'%;;r",..“"”--.r;_..%mﬂnai”.“.-';-

=
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r
' Expressions and Equations (8.EE.C.7&8) '
"> . _ Analyze and solve linear equations and pairs of simultaneous linear equations. '

How to Solve Multi-Step Equations: =3n = 4{~% + 4x) = -3(1 + ¥x)

1. Use the Distributive Property “Bx-A(-B24x)=-3(1 +8x)

Bl
2. Combine Like Terms . it Q_}E}} # 0=

=19% + 32 = =3 = 24%
24w + 2ex

4, Use inverse operations to solve for the variable. Exr R =

3. Bring the variable to one side of the equation.

Systm of Equations
A system of equations is a pair of equations that contain the same variables.
The solution of a systemn is an ordered pair (x, y) that make BOTH equations true.

L B
74 How can you prove that (-4, 3) is the solution of the following system? 2x +y = -5
y=-5x-17
If you replace the values in the equations, both are true.
2Xx +y=-5 y=-5x - 17
2(-4) +3=-5 3 =-5(-4) - 17
-8+3=-5 3=20-17
-5=-5 3=3

Salving Systems by Graphing (Always write the solution as an ordered pair!)
¥

Solve the following system using a graph. |

X+2y=5 2x+y=4 i AR | |xs2p=s
2y=-%x+5 y=-2x+4 oI\ | L/
y =-0.5x + 2.5 o : EI 'I \ ,\\.-»
g ey Tk
|

1. Graph each equation on the same coordinate plane. > ST e
(Solve for y and use the slope and the y-intercept.) \

2. Find the point of intersection. (1, 2)

L L L L L L L T e Y T T T

L]
L
]
L]
L]
L]
L]
n
"
"
L]
L]
L]
L]
]
L]
L]
L
L]
"
"
L]
L]
L
L]
L)
L}
]
| ]
L]
i
L ]
L]
L]
L]
L]
"
L]
L]
L]
L]
L]
"
L
L]
L]
L]
]
r
L}
L]
L]
L]
"
L]
L]
L]
L]
]
"
L
]
"
L
]
L}
L]
]
L]
L]
L]
"

S e SR e e |
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Solving a System using Substitution

1. If one of the equations is not already solved for a variable, you need to solve one of the
equations for "x" or “y" (whichever is easier!)

2. Substitute that value in the second equation and solve for the variable.
(You now have either the “x" or “y" value!)

3. Replace that value in either one of the original equations to solve for the other variable.
4. Write the solution as an ordered pair.

Here's an example x=Hy+1
X-yy=12
x=

2x-3y=18 x=4y+1
8(d4y+1)-3y~18 x=4(8)+1 Bolution
ay“'a 3y"|2 x=8+1 (2.9)
By+«3-18 x=-9
Sy=10
y-a

Solving a System using Elimination
1. Make sure the equations are written in standard form (Ax + By =C)

. Check ta see if one of the variables has opposite coefficients. If not, you need to multiply
one (or both) of the equations by a number that will result it opposite coefficients.

. Add the equations to eliminate one of the variables.
. Solve the equation. This will give you the first value in the solution.
. Replace this value into one of the original equations to find the other value in the solution.

ra

W

4(8) + 2y --18
Here's an axample: dx+24=-18 ‘éu),g?_,la

Tx- Y= 2y=2
=1

x=B Eolut.itml.ﬁfﬁ. 1§

* How Do | Find the Number of Solutions??
Solve both equations in the system for “y” and compare the slopes and y-intercepts.

One Solution Infinite Solutions No Solution

The equations have The equations have the The equations have the

different slopes. same slope and the same same slope, bui the

y-intercept. When solved y-intercepts are different.

y=4x+7 for y, the equations are The lines are parallel and

y=-9x-2 exactly the same! will never intersect.
2X+y=6 -—>y=-2x+6 2y-10x=4 —>y=5x+4
Ax 42y =12 —> y=-2x+6 SX4+y=13 —>y=5x+13

B R R R e ey
sssssssssssssssssssssssss/esssssssssssassssssssssssssesssssssssssssnssensssnsssasseeseed

R B B N R R I I R
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Expressions and Equations (8.EE.C.7&8)
(Analyze and solve Hnear equations and pairs of simultaneous linear equations.)

Solve each problem. You may not use a. caloulator.

- e e e

'
L
1
'
L]
L}

4

1. Which equation has the same solutionas 4 -2(x-B)=x - 199
A. 2(x+B)=8
B. 3(x-3)=9
C.x+28=2x-3

D 3x-4=23x+7

2. What.valuenfxma.kestlmequaﬁm:}(x 6) 8x~-2+B(2x+ 1) true?

R N Y

3. What value of x makes the equation true?

3( +8)=9
—.r —
4

4. John wrote the equation t = 2m + 60 to represent the temperature, t, in degrees Celouis,
after a substance had been heated for m minutes, Desaribe the relationship between the
temperature of the substance and the time it has been heated.

A. The temperature was initially degrees Celolus.

B. The temperature increased by degrees every minute(s) it was heated.
C. Based on John's equation, how many minutes does the substance have to be heated

to reach a temperature of 100 degrees Celoius?

A4 AR R A A A AL LA A ARl AR R A d LRl Al Al i il il iR il il Al R i i i i il AR i Al i Al it A b A A R A A EEX LY
s ssssssssesessessssssessesss hsesssnessnnsssssssedessssssssssesesssdsseesesesseeseneeenosssd
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o I ST R W
1
i

&K O |0 |0

'EEEX

"Slololo
. |

A Linesandlinet
B. Linetandliner
C. Linesand liner

S

|
solo|o
+
3

b

y=-2x+8
y=3x-7

- —

7. Indicate whether each of the four systems of equations has no solution, one solution, or

5. Write the solution of each system as an ordered pair.
1
B

6. Solve the system by graphing. Label the solution “P~,

TR R R R R R R R Y
L I L T |

Kim Coffleid ©2016
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! 8. Find the value of y in the following system:

I 3
.t+:_\.'=0 .1—5|1'=4

-

9. A system of two linear equations is graphed on a coordinate plane. If the system has
infinitely many solutions, which statement must be true?

A. Om the graph, there are no points (x, y) that satisfy both equations.
B. On the graph, there is exactly one point (x, y) that satisfies both of the equations.

(. Om the graph, any point (x, ) that satisfies one of the equations cannot satisfy the
other equation.

D. On the graph, any point (x, y) that satisfles one of the equations must also satisfy the
other equation.

.

10. Linda has $20 to buy snacks for 12 people in an office. Each person will get one snack.
Linda is buying bags of pretzels that cost $1.50 per bag and bags of crackers that cost

$2.00 bag.

Linda. is buying x bags of pretzels and y bags of crackers. Which system of equations
can be used to find the value of x and y?

A x+y=20 B. x+y=20
1.Bx+ Ry~ 18 Rx+18y=1R

C.x+y=12 D.x+y=123
1.Bx+2y~20 2x+ 1.By =20

How many bags of pretzels did Linda buy?

R R I R I el R R R R B R
aEssssssssessssssssssssssssssssssssssssssasbheassssssssssssssnsssnsssbhssssssssnssssnsnssnasaand

L I e I e T I e
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1 11. The 8th graders are selling wrapping paper as a. fundraiser. The wrapping paper was
s0ld in small rolls and large rolls.

» They earned $3.00 for every small roll sold.

- They earned $4.60 for every large roll sold.

» The club sold 10 more large rolls than small rolls.

« The club collected $135.00 more from sales of large rolls than from sales of small
rolls.

The equation 3s+ 1356 = 4.5 (s + 10) can be used to represent this situation, where “s”
represents the number of small rolls the 8th graders sold.

A In the equation, what does the expression 3s represent?

a. The total number of small rolls sold
b. The total number of large rolls sold
¢. The total number of dollars earned from selling small rolls
d. The total number of dollars earned from selling large rolls

B. In the equation, what does the expression (s + 10) represent?

a. The total number of small rolls sold
b. The total number of large rolls sold
¢. The total number of dollars earned from selling small rolls
d. The total number of dollars earned from selling large rolls

C. How many small rolls did the 8th graders sell?

D. How much money, in dellars, did the 8th graders earn from selling small and
large rolls?

AL L L L L L L e R L L L L L L L L R L L L L L L L L ]
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Expressions and Equations (8.EE.C.7&8)
(Analyze and solve linear equations and pairs of simultaneous linear equations.)

Solve each problem. You may not use a calculator.

- R e e e
R A R R R I R I R R R

1. Which equation has the same solutionas 4 - 2(x-6) = x - 199
4-2x+10=x-19
ol Bx+14=x-19
A 2(x+B)=-8 Bx=-33
x=]11
B. 3(x-3)=9

C.x+2=2x-3

5x-4v3x+'?

L R R R R R B R R R R R N ]

2, What value of x makes the equation 3(x - 6) - 8x = -2 + B(2x + 1) true?

3x-18-8x=-2+10x+8
-Bx-18=10x+3
-16x = 21
-18 -185

x=-14

O R W O R R R R R R B R R e

3. What value of x makes the equation true?

3

—(x+8)=9

4 0.76x+6=9
0.75x=3

AR R R R R R L R L LTl I e

1 4. John wrote the equation t = 2m + 60 to represent the temperature, t, in degrees Celcuis,
after a substance had been heated for m minutes. Describe the relationship between the
temperature of the substance and the time it has been heated.

A. The temperature was initially 80 degrees Celcius.
B. The temperature increasedby __ 8  degrees every _1 _ minute(s) it was heated.

C. Based on John’s equation, how many minutes does the substance have to be heated
to reach a temperature of 100 degrees Celcius? t = 2m + 80
100=2m + 60

40=2m
20=m

20 minutes

I I I e I e e L L L T R [ R

B N
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: 5. Write the solution of each system as an ordered pair.

y~-2x+8
y=3x-7

Solution (3, 2)

¥ 5

]

¢t A Linesandlinet __ (4,-6)
'-—
% B. Linetandline r (4,2
TEEERE : * C, Linesandliner ek
F
~ r

6. Solve the systemn by graphing. Label the solution “P",

v h\: ..
! \c i

| |
| [

. b4 w1 g - .
| |
l ¥ |
4 .
i | I |

E e EEEEE. 1 »
- el

1 1 1
- 4 4 4 . - .

i -
| | '
] £ ] L1l

7. Indicate whether each of the four systems of equations has no solution, one solution, or

infinitely many solutions.
_ 2243=-6 | z=1| z-2y=4 | y=5z+20
mdrte | ittt |ywd | sl | Switas
No Solution O O | ® O
One Solution © O

-

' ™ o R R R R R R

Kim Coffietd £2018
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' 8. Find the value of ¥ in the following system:

+—y=0 -1(x-§)!=4)

I | —

9. A system of two linear equations is graphed on a coordinate plane. If the system has
infinitely many solutions, which statement must be true?

A, Omn the graph, there are no points (x, y) that satisfy both equations.
B. On the graph, there is exactly one point (x, y) that satisfies both of the equations.

C. Om the graph, any point (x, ) that satisfies one of the equations cannot satisfy the
other equation.

On the graph, any point (X, ) that satisfies one of the equations must also satisfy the
other equation.

---..-.---.-ﬂ--....--“.-..b-.-‘-ﬂ‘-ﬁ-‘-‘-.ﬁﬂﬂ-‘-.--.....‘.--._-.--‘-‘.-

e Y Linda has $20 to buy snacks for 12 people in an office. Each person will get one snack.
- Linda is buying bags of pretzels that cost $1.50 per bag and bags of crackers that cost
¢ $2.00 bag.

]

: Linda is buying x bags of pretzels and y bags of crackers. Which system of equations
: can be used to find the value of x and y?

L]

- A x+y=20 B. x+y~=20

- 1Bx+R2y~123 2x+1.8y=18

‘

]

‘ +y=1R D.x+y=12

: .Bx+2y~20 2x+ 1.6y =20

:

‘

- How many bags of pretzels did Linda buy?

L]

- 2 (x+y=12) -8X - =-24 Linda bought 8 bags of pretzels.
. 1LBx + 2y~ 20 1.5x + 2y = 20

- -0.5x = -4

. x=8

L]
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' 11. The 8th graders are selling wrapping paper as a fundraiser. The wrapping paper was

s0ld in small rolls and large rolls.

They earned $3.00 for every small roll sold.
They earned $4.50 for every large roll sold.
The club sold 10 more large rolls than small rolls.

Tolls.

The equation 3s + 138 = 4.8 (s + 10) can be used to represent this situation, where “g”

represents the number of small rolls the 8th graders sold.
A In the equation, what does the expression 3& represent?

a. The total mumber of small rolls sold
. The total number of large rolls sold

The total number of dollars earned from selling small rolls
d. The total number of dollars earned from selling large rolls

B. In the equation, what does the expression (a8 + 10) represent?

&. The total number of small rolls sold

The total mumber of large rolls sald
c. The total number of dollars earned from selling small rolis
d. The total number of dollars earned from selling large rolls

C. How many small rolls did the 8th graderssell? gg+ 135=4.8(s+ 10)
35+ 1365=4.6s+45
-1.Bs+ 136 = 48
-1.6s = -90
s=60

D. How much money, in deollars, did the 8th graders earn from selling small and
large rolls?
Small Rolls (s) Large Rolls (s +« 10)

60 - $3 = 8180 70 + $4.50~ $315

The club collected $136.00 more from sales of large rolls than from sales of small

Kim Coftletd #2016
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E Functions (8.F.A.1-3)
o Define, evaluate, and compare functions.

; ? Functions and Relations

A relation is a set of ordered pairs. A function is a set of ordered pairs in which each
input (x) has exactly one output (y). In other words, the “x" values cannot be repeated!!

This set of ardered pairs represents a function: {(2, -3), (-5, 1), (0, 7), (4, 7)}
Notice that all of the x-values are different. It's ok if the y-values repeat.

Identifying Funtions
From a Table From a Function Tahle
. ¥
x|y s
=
-1 |4 1 —
‘: .4
0|1 - 2
1|2
2 | s Each x-value is only =
used once. It's ok that —
The x-values do two x-values are paired This graph passes the
not repeat! with the same y-value, “vertical line test”.

Linear Equations and Functions

229 How can I tell if an equation is linear?

& When degree of "x” (the exponent) is “1", the equation is linear. This means that, when
graphed, the equation makes a straight line. If the x has any other exponent, the
equation is non-linear. If the equation contains x

Linear Non-Linear
y=2x+4 y= ox%4 2

]
L]
L
L]
L]
n
T
L]
L]
n
L]
L
n
L}
L]
L
L]
n
L]
L]
L]
"
L]
L]
L]
L]
)
L]
L]
"
n
L]
L]
L]
n
r
L]
L}
L]
L
L]
n
L]
L)
L
"
L]
]
L]
L]
L]
L]
L]

s How can | tell if a linear equation is a function?

+ Almost all linear equations are functions. Horizontal lines (such as y = 10) are functions. They have
ia slope of zero, but the x-values are not repeated and the graph passes the vertical line test.

; Vertical lines, however, are not functions. So, the equation x = -9 is linear, but is not a function.

L)
e B R L L A bl L Ll L Ll L Ll Ll A L L Ll A LAl L Ll Ll Ll L Ll L L

Solutions of Linear Equations and Functions

Linear equations have an infinite number of solutions. You can determine whether an ordered
pair is a solution by replacing the x (input) and y(output) values into the equation to see if it
works!

y=3x-8 Possible solutions: (-1, -12), (0, -9), (1, -6), (2, -3), (3, 0). (4, 3)....

cessssnsssssssesdessssssnsssnsssssssssssnnsdenssenssessssnsssnnasenssssssssssnsnsssnnsesd sennad
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!'unctlan.l (B.I.A. 1-5)
(Define, evaluate, and compare functions.)

Solveamhpmblem Youmnwnott.meaua.laulamr

'------ ------------------------------------------------------ - - -
: 1 Whinhofthebllmﬂngmmphscffuncﬁnns‘? Choosea.‘:lthaha.pp]y
'
| ]

A' y A v
N wnnr smunuiiil aumarice BB SHWEED AN -

T oo - SO I . - e feesssise

| ] 3 + _...jk - I ll- -
: : psfd -I-—J g ‘ot f = 2 .1 ¥
Pian s «HHEPH s T (O
g 284y A b MIN RS
- 1L : LN
i 1 o @ : N
- : 9 e . 3 : : 5 ]
: = -1. & =5 T .-} B ...._-f ] ; ].
. v v v
'
"
B D D A A B D A B A I O

8. Whichofthemnowmgmpumtputtabms repreaent.a.nmctlon‘? Choose all that apply.

>

4 1 4 1 4 i

10

inpue | Output | B | tnpit | outout | © | mput | outout | P | mnput | output | E | mmput | Output
1
8
s
1

o || | -
w
("]
(=

10 10 8 10 5 ]

-

3. This table shows a relation. Which statement is correct?

-1 2
3 -1
1 2

-2 3

-1 1

A. The relation is a function because each input has exactly one output.
B. The relation is a function because each cutput has exactly one input.
C. The relation is not a function because one input has more than one output.
D. The relation is not a function because one cutput has more than one input.

-
[P PRI S R S A S e St S I S (R ———————————————— L

L R R R R R R N R
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+ 4. A relationship between x and y is defined by the equation -Bz-l-sy- 18, where x is the
input and y 1s the ocutput.

Select True or False for each statement.

y is a function of x

The graph of the relationship is a line.
The graph of the relationship passes through the origin.
When the input is 6, the output is 14

5. Some values of linear functions A and B are shown in the table and graph.

Function A Function B
¥

1

¥

1 7
1.25%

L3 S ]
1.75

Bl |l o] N

Which of the following describes the y-intercepts of the two functions?

A. The y-intercept of Function A is equal to the y-intercept of Function B.

B. The y-intercept of Function A is 1 unit less than the y-intercept of Function B.

C. The y-intercept of Function A is 1 unit greater than the y-intercept of Function B.
D. The y-intercept of Function A is 2 units greater than the y-intercept of Function B.

6. Which functions are non-liner? Choose all that apply

i

=

A ¥ B. y=5-+ C. -Br+2y=4

D. y=3r+I B, y=-S5r=2 r =y

1 7. Which ordered pairs are solutions of -2x - 3y = 247 Select all that apply.
:
]
]

a (0,-8) b.(4,10) c. (-18,4) d (-12,0) e. (-6, -4)

-
sssssssdessscscsnsssnsssdscssasssnnsnnssssssensssansssnsssnnssnscssnnlosscsssssnscscssnssasnesens
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' Functions (8.F.A.1-3)
: (Define, evaluate, and compare functions.)
L]

Solve each problem. You may not use a calculator,

+ 1. Which of the following are graphs of functions? Choose all that apply. -
| 4 n
L] ' | ¥y ]
' A A Al ' '
@“ B H 0 (-@‘ SN NS ” 2 2 5
: t i P ’ { F : o 5 itk 1o :
| ] n Rl et - = :~ —t ). h R ). { e —t — )‘ :
s > < i <1 1 .
. a 3 i L]
: : % XU : :
' e i o : )
. . ] i ilg L i ]
: v v v v :
. :
'--------- ------ - .. L - e - -------1
+ 2. Which of the following input-output tables represent a function? Choose all that apply. .
L] ]
" L]
] — ]
v A iopwe [ ouout | B [ nput | outoue KC [)input | oupot [ 2 [ iopit | outpt | € [Ttnput | o0u :
L] w Ll
: B 4 1 4 4 1 4 1 4 :
' 1 6 5 6 f 10 6 g 3 -
. 5 5 5 1 1 5 5 s 0 |}
E o 10 i0 8 10 5 1 | 5 E
L] ]
L L]
L] ]
" L]
L] ]

r--.-ﬂ----..--'n...-.-..-----ﬂ-'-..---u-b----..--.I-.-.---..--.-ﬂ--‘

+ 3. This table shows a relation. Which statement is correct?

-1 2
3 -1
1

-2 3

-1

A, The relation is a function because each input has exactly one output.
B. The relation is a function because each output has exactly one input.

The relation is not a function because one input has more than one output.
D. The delation 1s not a function because one cutput has more than one input.
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- Arelataonahipbetmenxandyisdeﬂnedhythaequaﬂon-sxtsy-mwherex:sthe
input and y is the output. By=56x+12

Select True or False for each statement. y=8/Sx+4

y is a function of x X
The graph of the relationship is a line. X
The graph of the relationship passes through the ongin. x
When the input is 6, the output is 14. X

e R

8. Some values of linear functions A and B are shown in the table and graph.

Function A Function B8

¥
x|y
o1 - = & m e
11138
2|15 1-,—.,-,—-;-' -
3 |17 .

TWhich of the following deseribes the y-intercepts of the two functions?

A. They-intercept of Function A is equal to the y-intercept of Function B.

B. The y-intercept of Function A is 1 unit less than the y-intercept of Function B.
The y-intercept of Function A is 1 unit greater than the y-intercept of Function B,

D. They-intercept of Function A is 2 units greater than the y-intercept of Function B.

L R R R R I R B

6. Which functions are non-liner? Choose all that apply

A }*:% y=S5=x’ C. ~-3r+2y=4

e ‘Whichord&redpajrsmsnlumonsof -RX - 3y-349 Elalaetallthata;pply

.(0,-3) b. (4, 10) @-1&,4) @(-12,0) .(-6,-4)

Kim Coffleld ©2016 hitps/www.leacherspayteachere.com/Slore/Math-Class-Rocks
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- Functions (8.F.B.4&5) -
L] L}
g Use functions to model relationships between quantities. .;
Writing Equations
When writing equations, keep in mind that the repeated change is the number that
is multiplied to the variable (the slope) and the number you have atthe start is the
number added or subtracted (the y-intercept).
You have $175 in your bank account and The book you are reading has 425 pages.
depasit $50 each week. Write an equation You decide to read 25 pages each night.
tor the amount of money, M, you'll have in Write an equation for the number of pages, P,
your account after w weeks. you still have to read after n nights.
Starting amount: $175 Starting amount: 425
Repeated change: + S50 Repeated change: - 25
Equation: M =175 + 50w Equation: P =425 -25n
or M =50w + 175 or P=-25n + 425
Writing Equations from the Graph of a Linear Equation
Identify the slope and the y-intercept. Replace these values iny = mx + b.
i !?y
TN Siopes-2
. ,; ..... y-intercept = 5
I - N
FHEX  yaces
{4 ']F B
1 \i.—' X
2 e me ]
. ol 1L\

Writing Equations Gwen the Slope, the y-intercept, and/or an Ordered Pair

Write an equation for a line
passing though (-4,1) and (2.4).
1. Plot the points, draw a line.

2. Find the slope and y-int.
3. Write equation.

rt

e R .}"‘
=
E
o
o
-

Kim Coffield 2018

Write an equation for a line with a slope of 3
that passes through (5 1)
1. Start with y = mx + b

2. Replace the given values
for the slope, x, and y.

y=mx+b

-1=3(5)+b

3. Solve for b. -1=15+b
4. Write the equation in -16=b
slope-intercept form.
y=3x-16

M T T I YTTTT’TTrTrrTTI'I'!T'S'T'T'T’'T’T’T’TSTSs,T]’T]T’T’'’T’'T’T’T’'"T’'T’'"T’'T’T'T’T'’"T'T’'T'TTT'T'"ST"TTYT™Th
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Writing an Equation from a Table of Values

1. Find the change in y and the change in x. Write this ratio.

X Y This is the slope.
il 2 5 3 2 Find the y-intercept. It is the the value of y when x = 0.
- 0 2 &

2 8|
+2 -3

4 -4

Slpe. B2 ymt 2

When describing a graph, you should be as specific as possible.
Positive - As x increases, y increases. Slants upward.
Negative - As x increases, y decreases. Slants downward.
Constant - No change.

Linear - Makes a straight line.
Non Linear - Does not make it straight line.

Cases
L]
0
409
300
m
100
a
1350 4965 1570 1975 1985 1950 1385

—4—rcidencs of X diesse b Sovsland

This graph shows a non-linear relationship. From the years 1960-1965, the number of cases
remains constant (100 cases). From 1965-1970, the number of cases increases at a rate of 20
cases per year. From 1970-1975, the number of cases increases mare dramatically at a rate
of 60 cases per year. Again, the number of cases remains constant from 1975-1980. Over the
next 10 years, the number of cases decreases al a ¢z 0 cases per year from 1980-1985
and then -70 cases per year from 1985-1990. From 1990 1995 thare were na cases reported.

L L L B R L B B R B R R I L B R B
.-----n-;.--.--n----.-.-----.-..-.-----‘--a----.-'----n--D-

LR R B I B R B R R B B
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' :l'unutlm (8.F.B uvs) ‘
- Use functions to model relationships between quantities. -
L] L
L] L
;_ Solve each problem. You may not use a calculator _;

'], At ahcﬂmmthﬁmstofapplesmdhschwpmpormmﬂmmeweightoﬂhemlas
Brian bought 10 pounds of apples for a cost of $15.00.

Which graph shows the relationship between the weight of the apples, in pounds, and
the cost of the apples?

A 1 1 4 (2 3 1
T ! % - 2w B0
L 1T ¥ 5 L) |
: § 1 { HHHH
- 3 7 : 7| LS
L . s % I &
;i ' ;! / is fl is
4 —1—4—1—1— o 4 +—t— ] - -
®
E | . . 'g 4 ", / ‘3 ,‘..d
s-l t .E: 31 3:
i : i e 1 i 1
9 123456789%10 0 1234547800 0 L2I3IASETROW “113*"“""10
Weight of Appiey Waight ol Aspes Weight of Azpies Wegmi of Appies
Lpanss) {poends) 1pounde) pouasa)

Write an equation to represent this relationship.
Let C = the cost and p = the price for one pound of apples.

2. A line passes through points (-1, -2) and (1, 4). What is the equation of the line?

hRecssscscsnsssnsscsncssnssssnsssndencscscssscscssscssnsssbhescscnccsssccsnnccscsnnssssnsccccssnsccnsd

-

-SSR Eee eSS e R EeS eSS e eSS SRS eE E e T T eSS E e

3. Clearly describe this graph in terms of the real-world situation it represents.
..

From A to B: =
: B
From B to C: e e
=-..: f,
From CtoD: : \Ié
RS e
From D to E:

Kimt cmsa ©2016 nmjmmawmmmmmm-ﬂaas
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; 4. Write an equation for the linear ) B. Write an equation for the linear
' relationship shown below. + relationship shown below.
‘ '

n L 4 L]

] A (]

= ’ : [x[v]
L] {Z :

‘ ‘ ¥ "9
(] - - (]

: 1€ B : & | 7
L] 27 L]

' ' a 13
. T T A T D TR TS - L]

- _FZ : 10 | 19
L] L]

L] L L]

L] L

n L)

L] L]

L] [l

L] L]

Rl R R I i e T B

1 6. Aline has a y-intercept of 4 and passes |} 7. A mechanic charges $2085 for parts plus

L]
1 ]
1 ]
1
L]
]
:
L]
]
L ]
L]
L]
"
"
L]
L}
:
:
]
L ]
:
:
q
:
!  through the point (2, 0). Write the - $85 per hour to fix your car. Write an :
' equation for this line. ' equation to represent the total cost, C,as
. - a function of the number of hours, h, it .
: y  takes him to fix your car. ~
‘ - .
L] L L]
L] L] L]
L] Ll L]
L] L] i
n L] L ]
L] L] L]
L] L L]
n L] L ]
' ' ‘
L L L L L L L L -
'8 Describe the following graph. Use terms ' 0. Describe the following graph. Use terms ‘
i like increasing, decreasing, constant, + like increasing, decreasing, constant, -
+ linear non-linear, etc... +  linear, non-linear, ete... :
L] Ll L]
- i : ‘ickat price and concert atiendance: -
n Py L] ]
L Ll L]
s ot s
P . : oo :
' i -3 ' '
(] (] 1} ]
" |—1 i 0 w0 20 0 “0 5¢ &0 i
' \ ' Ticket price (5) '
L) B 25 AT 1= s ] L]
n 1 L1 L2 1 L] "
L} L} L
1 ‘ "
L] L] L]
L] n ]
1 L L ]
L] L] L]
L] Ll L]
L] L] ]
n " L}
L] Ll L]
L] L] L]

Lesssssnssssssssssssnssnnnsssssssslesnsssnnssssnssssssnsssnsssssssssd
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r
" Functions (8.F.B.4&5)
- Use functions to model relationships between quantities.

Solve each problem. You may not use a calculator.

...-'-..II--'-.-'-..I.'..II-II...I-..-'--'-.--..--'-..I'-"-I"..-J
(AR AR LA R L AL R L L L R R L L LR R L A R R ER ]

1 L. At alocal market, the cost of apples is directly proportional to the weight of the apples.
!  Brian bought 10 pounds of apples for a cost of $15.00. :
L] L]
+ Which graph shows the relationship between the weight of the apples, in pounds, and :
1 the cost of the apples? -
: — :
: A ; : / < L. ! € . 2 1 <) o it :
g fiaases : H §e 12 :
: = : (‘{ ? :’p. ® / P R i
i §imaaia : Zea R Elany 1 43 :
'\ 3 HAH : ¥ 3 F &2 :
- =
s \! e A 3 | & | g
: B 312358886 0 123458670310 o azs-sc:aow‘- 0 123485870910 :
: Weight of *ﬁn“~“- H1Md~ﬂ- Weghl of Apps :
;----------....-...----.--..-.---.------.--.---.---.--.-.-..---..‘--é
:2. A line passes through points (-1, -2) and (1, 4). What is the eguation of the Ina? '
' :
L] L ]
- y=8x+1 -
L] L]
L] ]
L] 'R ' i
L] L]
L] - L]
n 1 ]
1 ] ]
n L]
' ] i
" 1]
koo o o es s s s s s s s s s w® E S SR S S S S O S S S S W S OE W EEOww o -l
+ 3. Clearly describe this graph in terms of the real-world situation it represents. '
L] L]
n "
+ FromAtoB: ‘
+  You travel at a constant speed of 2m per second for the first 50 .
1 seconds. You are 100 m from home at this point. . :
L} L
' FromBtoC: . Jﬁ .
+ You turn around and go back towards home for the next 20 1l
1 seconds. You are walking faster at a constant speed of S3m per , :
' second. You are now 40m from homae. Dkt Fon '
L] Tare nescors 1 L
* FromCtoD: o :
1+ For the next 30 seconds you walk away from your house ata * 2 '
y constant speed of 4m per second. You are 160m from home. = % g
] »n i
: From D to E: ® nxnaruanmmmu;:
+ You stop walking for the last 20 seconds. Tens inwnandc .
‘ .
L] L]
L] L]
L] ]
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: 4. Write an equation for the linear ; B. Write an equation for the linear
relationship shown below. :  relationship shown below.
-
T ]
; = EXEN
V, '
; 4 | 1
. e Bl . . '
5 T _} : 3 7
: g | 13
— - . TS S — . .
_P/ . 10 | 19
R '
[ ]
y=2x+4 ‘ y=8x-11
L]

like inoreasing, decreasing, constant,

- R e e

6. A line has a y-intercept of 4 and passes  , 7. A mechanic charges $208 for parts plus

through the point (R, 0). Write the ' $B66 per hour to fix your car. Write an
equation for this line. : equation to represent the total cost, C, as
+ afunction of the number of hours, h, it
+ takes him to fix your car.
y=-2x+4 .
L}
- C = 55h+ 208
'
L}
[ ]
L]
'
--------------------------------- P L )

9. Describe the following graph. Use terms
like increasing, decreasing, constant,

Tiee (secands)

Nonlinear. It increases until it reaches
a height of 6 feet and then decreases.

i B R R R B I R R e R I R I e

5

linear, non-linear, ete... linear, non-linear, ete...
i Ticket price and concert ationdance
TS
y 2000
z ‘ e
; -"{ 1000
- M 30
\ I Tickat price (3)
B3 AL BB 1% 1%
| S5 T A O ) |

Linear. The graph is decreasing. As
the price of the ticket goes up, the
number of people who go to the concert
goes down. There is a constant rate of
change - for every dollar the price of
the ticket increases, 50 less people
purchase a ticket.

Essssssssssssssssssssssssssnssssnsiissnrssesrre s EnessEasEREseEESsSS
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: Geometry(8.G.A.1-8)
. Underst.and congruence and stmilarit.y using physical models

| SprSp———

“ Translation (slide) Reflection (flip) Rotation {turn)

|

*~

‘“‘ =] _g_fs__.
Ein
[L_

1
:

; Points are used 1o label the figures. The plain letters show the original figure. which is called the
. pre-image. The apostrophes show the new figure, which is called the image.

' When a figure is translated reﬁected ar rotated tha s;zeﬂnd shape ni m&tlgum,rﬂmama the
erimeter 5 g also equal to the original
ent to the pre-image.

' Comsponding Angles and Sides - They are CONGRUENT!

! When the same letters are used (with apostrophes on the image), it is easy to identify the

; ' corresponding angles and sides. However, different letters are sometimes used to label the image.
i In this example pentagon ABCDE has been rotated to form pentagon JKLMN.

by T 1 1 1 1
i “ _ft'_'_ | el If youdonot have a picture to look at, you can find the
M AL et comresponding angles and sides simply by looking at the

=t— points (letters). They are always listed in corresponding order.

i

[

L]

[]

:

:

. ZAl 1 I you list them this way, it's easy to find corresponding parts.
: BN e __I_"___._'____f_ ABCDE

RS G JKLMN

] L i

= ZAand £J AB and JK
. ZBand £K BC and KL
: ZCand 2L CD and LM
' ZDand £M DE and MN
. ZEand ZN EA and NJ
FeSE S e ss e e neess-eEneeseneeeesssessessss e e Eeeeeeeessessessesasesas
\ Rules of Transformations

v Add to or sustract from x Reflect over y-axis 2°  (-y, %)

: to move left or right. (-x,y)

: 120° ('!;"V)

v Add toor eubtract fromy Reflect over x-axis

E 1o move Up or down. (x, -y) ° (y,-x)

I o e T R

: A Dilation is an enlargement or a reduction. The scale factor (k) is the number that is multiplied to
\ the ordered pair or side length of the original figure to get the new figure. (x, y)—> (kx, ky) .

R R R R R R R R R N R R P R R R R R R R R
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"

. Geometry(8.G.A.1-8)

E Understand congruence and similarity using physical models, transparencies,
1 or geometry software.

' Bolve each problem. You may not use a calculator.

‘----'----------I.I---‘.--'.--.--I-I.-..------I----II-'.--'----..I-J

1

| 4
a. Which figure can be transformed into figure P -:‘l '
by a translation 2 units to the right followed 1 -
by a reflection across the x-axis? RERS! w2 _:l L
. an :[
1
b. Which figure can be transformed into figure L VEEEEEEEEE BERENREART A0
by a 90 rotation clockwise about the origin : “fl =
followed by a translation 2 units down? 1 j 4
1 L fd
_— ;: I I j.a -

e e e e e e e e e e e e e e e -

&. Translate pentagon CDEFG is translated 7 units up and B units left, resulting in
pentagon CD'E'FG.

L]

n

n

n

L}

1]

n

L]

L]

n

n

L]

L]

L]

n

L]

1]

:

L]

L]

1]

"

:

L]

L

n

. ¥

L]

n

*  a. How does the length of side CG compare to

' gide C'G'?

:

L]

L}

n

: b How does the perimeter of CDEFG compare AR ER x
- to the perimeter of CD’'EF'G'?

' : 4’)\
L]

H L& o
. I

L] e —
: [ !
+ 3. Polygon KLMN is the image of polygon of PQRS after

: a 180° rotation. Which angle of ELMN is congruent 1. )

' toangle 89 A° !

' A

L]

! mRLX e

: b. 2L a o olx
y T

' pe

T e ZM :

n

E d ZN i

g

Lessssssmnssnsssnsssnnssssnsshbecssssssssssssnssssssnsssnnrshsssssssssnssssmsssnssess

L R
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! 4, Which describes a possible sequence of

- e e

S EESSESEESEEEEE RS EEEEEEESE eSS E S sES S S SE E S eEE R e .-
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transformations that transforms polygon

GHJK into polygon G'H'JK'?

|
&
2

a. a 180% rotation about the origin, followed

|
z;.‘l.

by a dilation centered at the origin with

a scale factor of 1/2. I

1

b. areflection across the line y = x, followed by 'ﬂ

|
-

s

EEEE

a dilation centered at the origin with a scale

factor of 2.

z

-

-

]

c. areflection across the y-axis, followed by a

reflection across the x-axis, followed by a

dilation centered at the origin with a scale

factor of 2.

d, a reflection across the y-axis, followed by a translation down 10 units, followed by a

dilation centered at the origin with a scale factor of 1/2.

a. They are similar because GHJK can be obtained from polygon G'H'J'K' by a sequence

of transformations.

b. They are similar because the area of GH'JK' is the same as the area of polygon

GHJEK.

c. They are not simndlar because G'H'J'K’ cannot be obtained from polygon GHJK by a

single transformation.

d. They are not similar because the orientation of polygon GHJK is not the same as

the orientation of polygon G'H'JK.

parallelogram ABCD after a rotation of 180" about
origin. Which statements about A'B'C'D" are true?
Belect each correct statement.

A. A'B’is parallel to B'C”

B. A'B'is parallel to A'D"

C. A'B'" is parallel to C'D’

D. A'D’ is parallel to B'C’

E. A'D’ is parallel to D'C’

B. The best described the relationship between polygon GHJK and G H'JK™?

8. Parallelogram A'B'C'D’ (not shown) is the image of

.........

.....

-

.....

.....

-----

A A |
I'TT1

.-..-.-.ﬁ.--..---..-‘--b-..-ﬂ-..‘..--..-..--.-.-.--.-.-ﬂ...*‘--.-.-ﬂ.-..-



1 7. In the figure shown KN is parallel to LM. ’

8. When comparing A KJN and A LJM, Brian says that £ KJN and £ LJM are
congruent. Explain why Brian's statement is correct.

b. Brian wants to prove that a second pair of corresponding angles from A KJN
and A LJM are congruent. Determine a second pair of corresponding angles
from A KJN and A LJM that are congruent. Then explain how you know that
the two angles are congruent.

8. In a coordinate plane, triangle ABC has vertices of A(1, 1), B(1, B), and C(B, 1).

a. Triangle ABC is reflected across the x-axis, resulting in triangle AB'C'.
What are the coordinates of Point B'?

b. Triangle A'B'C' i1s then dilated by a scale factor of 8 with the origin as the center of
dilation, resulting in triangdle A"B"C". What is the length of line segment A"B"?

LR R T N N R R
I L L R L L L L e N L L L

e e - .- e
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Geometry(8.G.A.1-8)
Understand congruence and similarity using physical models, fransparencies,
or geometry software.
BSolve each problem. You may not use a calculator,

F-----‘
LY Y L L

B 5 _ y =
a. Which figure can be transformed into figure P H it ,
by a translation 2 units to the right followed o :
by a reflection across the x-axis? e :l'-—;; (FRRRe
Figure M BEREY : ]
b. Which figure can be transformed into figure L 3‘#‘[.‘L1:L'L:L:I?..,L ﬂ.wr.i._i:[’
by a 90° rotation clockwise about the origin u 3 « !
followed by a translation 2 units down? ] '
W !
Figure M 111 IEE S ANEEE . =
] ] 1

2. Translate pentagon CDEFG is translated 7 units up and 5 units left, resulting in
pentagon CD'E'F'G.

&, How does the length of side C@ compare to ﬂ'
side O'G’?
It is congruent. Translating the figure preserves
the size and shape.
b. How does the perimeter of CDEFG compare B RN IR
to the perimeter of CD’E'FG'?
It is congruent. Translating the figure preserves e =8
the size and shape. o =
L
-4 11 |

3. Polygon KLMN is the fmage of polygon orPQRs after

¥
a 180° rotation. Which angle of KLMN is congruent - +
to angle 89
_l!l("
8 ZK Ei
h-éL RE % & . ...q Lo B
_,I
c. ZM IL

@4 N The letters are given in order, so angle S
corresponds to angle N (both named last). [T ;I TrEETEEL

LI R R R R R I I R I R
‘-ﬂ‘.-.-...“.ﬁ.--..-.-.-.-‘-ﬂ‘-.-‘.--.-ﬁ--.-.....‘---.ﬁﬁﬁﬁ.“‘---.-ﬁ.-.‘
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; 4. Which describes a possible sequence of

transformations that transforms polygon - ’;
GHJK into polygon G'H'J'K'? G bt
a. a 180¢ rotation about the origin, followed B
by a dilation centered at the origin with L&
a scale factor of 1/2. E Br
X 3. 11
b. areflection across the line y = x, followed by |[Gas= = 1 B EY] =P x
a dilation centered at the origin with a scale 23 Ll
factor of 2. b
MEJERTY
c. areflection across the y-axis, followed by a .
reflection across the x-axis, followed by a 7
dilation centered at the origin with a scale :'

factor of 2.

@amﬂmﬁonmsthay-aﬂs,foﬂowedhya&anﬂaﬁondm 10 unite, followed by a
dilation centered at the origin with a scale factor of 1/8.

8. The best described the relationship between polygon GHJK and GH'JK'?

They are similar because GHJK can be obtained from polygon G'H'JK' by a sequence
of transformations.

b. They are similar because the area of G'H'JK’ is the same as the area of polygon
GHJEK.

¢. They are not similar because G'H'JK’ cannot be obtained from polygon GHJK by a
single transformation.

d. They are not similar because the orientation of polygon GHJK is not the same as
the crientation of polygon GH'JK .

6, Parallelogram A'B'C'D’ (not shown) is the image of
parallelogram ABCD after a rotation of 180° about
origin, Which statements about A'B'C'D" are true?

]
e L T T T T T T TTYrTTTrTTrTTrTTrTTehrereeTTeTTTTTYTTTTETETETETETTTT————————T—————————————T—T—TETETETTTT—TTLLTLTLTLLETTETLTLTLTTET—T—T————

T R B L L B B R I L L I B I

Select each correct statement.
A. A'B’is parallel to B'C’ '
B, A'R'is parallel to A'D’ . - =
v , The figure will remain the 51 A SRR I
B dn paralialin L5 same size and shape, itwill [
"D’ is parallel to B'C’ just be positioned differently. | s}
; .~ Therefore, AB will remain i 5 5 O
B AD'sparalleltoD'C" o orallei to CDand AD wilt |11+ 111 e
remain parallel to BC. :
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1+ 7. In the figure shown KN is parallel to LM.
J

a. When comparing A KJN and A LJM, Brian says that £ KJN and £ LJM are
congruent. Explain why Brian's statement is correct.

Angles KJN and LJM are two ways of naming the SAME angle! The vertex in
each is J, therefore they are congruent.

b. Brian wants to prove that a second pair of corresponding angles from A KJN
andAMMareoongnmnt. Determine a second pair of corresponding angies
from A KJN and A LJM that are congruent. Then explain how you know that
the two angles are congruent.

If KN is parallel to LM, then JL is a transversal that intersects a pair of parallel
lines. This results in congruent, corresponding angles.

Therefore, angle JKN is congruent to angle JLM.

Angles JNK and JML would also be congruent because transversal JM
intersects parallel lines KN and LM to form congruent, corresponding angles.

L R B R I I I ]

8. In a coordinate plane, triangle ABC has vertices of A(1, 1), B(1, 8), and C(B, 1).

a. Triangle ABC is reflected across the x-axis, resulting in triangle AB'C’.
What are the coordinates of Point B’?

The rule for a reflection over the x-axis is (x, -y), so B is (1, -5).

b. Triangle A'B'C’ is then dilated by a scale factor of 2 with the origin as the center of
dilation, resulting in triangle A™B"C". What is the length of line segment A"B"?

Points after reflection: A'(1, -1), B'(1,-5), C'(5, -1).
Point B is 4 units below Point A, so the length is 4. I that is dilated by a scale
factor of 2, the new length would be 8.

-SSR eSS E e e e e
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' Geometry 8.G.B.6-8

L

T Understand and apply the Pythagorean Theorem.
y b

Lo )

%'\ Used to find the missing side length of a right triangle.

aZ+b? =¢? a2 + b? = ¢

32 4 42 = 2 8+ 13 =152

9+ 16= c? 15 yd az2+169 = 225
4 mi x 25 = 2 x =169 -160
\ a’= 56

3mi /__Jf 1y Vo' =456
\:;12,9 @::_:D

When using the Pythagorean Theorem, "a” and “b" are the legs and “c” is the hypotenuse.

Pythagorean Triplets
Three whole numbers that make a right triangle.
-]
%57 Canthe numbers 9, 40, and 41 be used to make a right triangle ?
To find out, use the Pythagorean Theorem! (The largest number goes in place of "c”.)
&+ b =c2 More Pythagorean Triples. ..
9° +402 = 49 3,4,5 5,12, 13 7,24,25
81 + 1600 = 1681 8, 15,17 11, 60, 61 12, 35, 37
1681 = 1681 13, 64, 85 16, 63, 65 20,21,29

The equation is true, so it's
a Pythagarean Triplet!

bAessssssscssnsssnssssssssnsdeossssnnssnnsssnssssssnsssnnsdeossssssssnsssnnsssnssssssnnd sscses

Using the Pythagorean Theorem to Find the Distance Between Two Points
1. Plot the points (i necessary) and connect
to form a line segment. a’+b? =c?
42452 =¢?
2. Using the line segment as the hypotenuse, @ 16 + 95 = c2
draw a right triangle. - &% i ot
3. Find the measures of the “legs”. T Jar=vJe
4. Use the Pythagorean Theoref to find the Raas
hypotenuse. This measure is the distance -

between the two points.
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-
Geometry 8.G.B.6-8 .

n

Understand and apply the Pythagorean Theorem. -

Solve each problem. You may use a calculator. -

; 1. Find the measure of side “x". ‘

~ 40 m N

2. In AABQ BD is perpendicular to AC. The dimensions are shovwn in centimeters.
What is the length in centimeters, of AC? B

10 10

R I LR R R R R

'3 Th.emctanglabalowhasanmacf&g'?m Find the length of the diagonal

1+ 4. Find the distance between (-4, 3) and (-1, -B).

e T T T T T T T TTTTTTTTTeTTTTTTTTTTTETTTTTTTTrTTrTTTUTUT’T'T’'T’'T’)ST’'"T’’Ts™sr '"mrmrrrhrrrrhTrhrmhoT4TTE

L
e " =SS "SRR R R E R RS S RS eSeS R RS E e
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]
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Geometry B.G.:B 6-8 .

n

Understand and apply the Pythagorean Theorem. .

Solve each problem. You may use a calculator: -

AR R A A R AL AR R Rl ARl R Al AR Rl Al Al ARl il il Rl il Al Rl Rl Ll Rl ]

; 1. Find the measure of side “x".

1+ 4. Find the distance between (-4, 3) and (-1, -B).

8.5 units

L]
[ ]
L] L]
1 ] L]
| ] L]
| ] "
L] L
] % '
| ]
L] ]
L] L
: '
L] ]
" L]
L] L]
1 ] [
B i 4
2. In AARC, BD is perpendicular to AC. The dimensions are shown in centimeters. -
3 What is the length in centimeters, of AC? B '
L] L]
- Use the Pythagorean Theorem to find the .
- length of DC and then multiply it by 2 to find -
s the length of AC. 10 10 '
' g i
' AC =12 '
| ] n
] ]
. A D 6 C -
L] ]
L} L}
e e e o i e B -
) 3. Thamcta.nglabelowhasanmaef&g'?m :
L] ]
. Find the missing leg by dividing the area by -
. 0 the given length. 297 +27=11 '
' 192,-‘ 11 :
. Then, use the Pythagorean Theorem to find -
x the length of the diaganal. i
' 27 in. -
] ]
L] ]
r "
:
]
L]
L]
n
n
L]
]
[ ]
]
L]
L]
]
]
L]
L]
]
[
L]
L]
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Geometry 8. 609 '

]

Solve real-world and mathematical problems involving volume of '

cylinders, cones and spheres. '

------ .-----------.----.-----'.--.-------.------------------J

-5'. Volume uia Cylinder '

) V= e '
: V=mmr2+h :
' V=314+52+21 '
] L]
: aigha = 21 10 V=1648.5f15 -
' :
' :
[] ﬁn—'-.. .
: If you are given the diameter, divideitbyZloﬁndﬂ'leradius.;
:  Volume of a Cone :
| L ]
' 1 '
[ V= -jm"*h i .
' Ve Srrten '
E v=l.3_14.32.g E
] 3 L]
E V = 75.36 cm? E
- The height must be perpendicular to the base. |
\ This means that it makes a right angle. -
it R ;
v Volume of a Sphere .
’ V= -rrr‘ Example: A .
E Veyme E
' 3 1
] ]
: S vewmmen
" :
' :
' :
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aomu-y 8.G.C.9

Solve real-world and mathematical problems involving volume of
cylinders, cones and spheres.

Solve each problem. You may use a calculator

== = -y
e ed

B

Usathaﬂglmeabelmﬂosolveeaahpu'oblem_
a. What is the volume of the cone, in cubic feet?

b. What is the ratio of the cone’s volume to the cylinder's volume?

* 2. Which of the figures below have a volume that is greater than 600 in
Choose all that apply.

Cylinder #1
Cone #1
Cylinder #23
Cone #2
Sphere

L L

How many times greater is the volume of the sphere than the volume of Cone #19
Round your answer to the nearest tenth,

B Ll L L N N O O YT e e S |

......-..................-..-.--.....-....-...--....-......-....'.‘
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Geometry 8.G.C.9
Sclve real-world and mathematical problems involving volume of
cylinders, cones and spheres.

Bolve each problem. You may use a calculator.

e e e R RS SeS RS eES R e eSR e eeS e R essssss e ===

+ 1. Use the figures below to solve each problem.
a. What is the volume of the cone, in cubic feet?

V=tmiton
3

50.27 fid

b. What is the ratio of the cone’s volume to the cylinder’'s volume?
50.27 ft* to 150.8 ft?

The ratio of the cone to the cylinder is 1:3. This is because the formula for the
volume of a cone is 1/3 that of a cylinder and the height and radius are the same.

2. Which of the figures below have a volume that is greater than 6001n
Choose all that apply.
565.5 in®
188.5 in®
a. Cylinder #1 ——
b. Cone #1 e A
@Cyhnder#& Cylnder #1 Cone #1

d, Cone #2 P =

(eDsphere e E )

Cylinder #2

1696.5 in®

How many times greater is the volume of the sphere than the volume of Cone #179
Round your answer to the nearest tenth.

904.8in°+ 188.5in°=4.8

L L L L L L L L L R T L L L L L T

- RS EEEEESEEEEEEEEE e EEEEEeEEEeEEs e s e ee e e
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Statistics and Probability 8.5P.A.1-4
” Investigate patterns of association in bivariate data.

As x Increases, As x Increases, No relationship
y increases. y decreases. between x and y.

O e R R e e e e e e

Line of Best Fit

The line of best fit is a straight lines that best represents the data in a scatterplot. It may pass
through most of the points, some of the points, or none of the points. It just needs to be
through the center of the data. It is also called the “trend" line.

Allrn s Car Wash Station

P

= 2

Number of Cars Washed
w» & B “ =

|

|

{ >X

1 2 0.4 5 0T

E R R R R R R R R )

Two-Way Tables
A two-way or contingency table is a statistical table that shows the abserved number or
frequency for two variables, the rows indicating one category and the columns indicating the

other category.
Lapiop | Mo Laplop
| comguter | Comguter | T
Desking
Compusar
Mo Deskiog
Towl = ) E |
This table shows the number of students who This Is an example of a biank 2-way
do chores (65) vs. do not do chores (36). You can table that you can use to compare what
also see how many students recelve allowance (59) type of computer(s) a person has at home.

ve. no allowance (42). You can also cross-reference For axample, deskiop only, lapiop only,
the two catagories. For example, 10 students do no both, of neither.
chores, but still receive aliowance!
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Statistics and Probabﬂlty 8.5P.A.1-4
Investigate patterns of assoclation in bivariate data.

-
L]
]
i
"
L
"
L]

1. What is the association between the age of the motorcycle and the price of the
motorcycle?

Used Motorcycle Sales
¥

As the age of the motorcyele Increases, the 12,000

sleprie . B

0 12345678
Age of Motorcycle (years)
2. A survey of 7th and 8th grade students asked whether they were in favor of or against
school uniforms. The two-way table shows the results.

Survey Results How many students were in favor of wearing
Number of Students Untpey
In Favor | Against | Total To the nearest tenth, what percent of the 7th
7th 48 64 | 112 grade students were in favor of wearing school
uniforms?
8th
Total 116 134 | 250 Describe the results of the survey. Be specific.

3. Create a 2-way table for the following data:
Tom surveyed his classmates to find out if they played a sport after school or
attended homework club. Fourteen of his classmates played a sport, Of those 14,
only B attended homework club. Eight students attended homework club and, out of
those 8, three did not play sports. There were ten students who did not play a sport
nor attend homework club.

How many students were surveyed?
How many students do not attend homework club?
How many students do not play sporte but do attend homework club?

P L L L L L L e R ]

-
L]
1
Ll
Ll
Ll
Ll
Ll
Ll
Ll
L
Ll
'
'
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'
'
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'
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'
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'
'
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Ll
L]
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L
L}
Ll
]
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L]
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'
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'
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'4 Trhich graph most closely approximates the line of best it for the scatterplot below?

9
. |
| -] @
? o=
y ST
" Sl B
4
L N
3 @ &
2 Q 9
1 . L4 .} | a8 . | v ; A
7 /Ar T ‘
0 1.2 3 4:58 789 A W | . -,fl"‘ -5 1| ﬁn"ﬁi_ Ij
5 5 Wl
‘_._._... ._e y — 4 B B
_‘J. ___0!/
:-' ; 7
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1 1 N 1
0 1234567829 ¢ 1231458678%9
@ ; &
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? | - | - ...I_.-.. ? I ..’..._
¢ et LAz
o=t { 4 &
2 - - e = .T.-- I .
1 T L
0 1234567869 @ 123456789
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5. The table shows the results of a random survey of students in grade 7 and grade 8.
Every student surveyed gave a response. Bach student was asked if he or she exercised
less than B hours last week or 8 or more hours last week.

Based on the results of the survey, which statements are true? BSelect all that apply.

A, More grade 8 students were surveyed than grade 7 students.

B. A total of 221 students were surveyed.

C. Less than 50% of the grade 8 students surveyed exercised 5 or more hours last week.
D. More than 50% of the students surveyed exercised less than 8§ hours last week.

. A total of 107 grade 7 students were surveyed.

e T . T TTTTTTTTTTTTTTTTTYTTTTrTTeTTeTTTTTTTTYTYTTYTTTETTTETTTETTETTETETTETTETTLETTETETEETETTETTTETEETETETETTTTTTTTTETTETYTETETETETTETTETETTETETETTETETTTTTTT
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Statistics and Probability 8.SP.A.1-4
Investigate patterns of association in bivariate data.

As the age of the motorcycle increases, the 12,000
sale price Decreases - ~ 11,000

>

0 123348678
Age of Motorcycle (yesrs)

2. A survey of 7th and 8th grade students asked whether they were in favor of or against -
school uniforms. The two-way table shows the results. -
]

Survey Results How many students were in favor of wearing i

Number of Students uniforms? 446 gtudents .

In Favor | Against | Total To the nearest tenth, what percent of the 7th E

7th 48 64 112 grade students were in favor of wearing school '
uniforms? 48 + 112 =42.9% :

Bth 68 70 138 :
Total 116 134 | 250 Describe the results of the survey. Be specific. '
Of the 250 students who were surveyed, 46.4%  ,

were in favor of wearing uniforms while 53.6% were opposed to wearing uniforms. A -

higher percentage of 8th graders were in favor of wearing uniforms (49.3% vs. 42.9% of
the 7th graders who were surveyed).
3. Create a 2-way table for the following data:

Tom surveyed his classmates to find out if they played a sport after school or

attended homework club. Fourteen of his classmates played a sport. Of those 14,

only 8 attended homework club, Hight students attended homework club and, out of

those 8, three did not play sports. There were ten students who did not play a sport

nor attend homework club.

Play Sports  |po Not Play Sports

Homework Club 5 3 8
No Homework Club 9 10 19
14 13

How many students were surveyed? _27
How many students do not attend homework club? 13
How many students do not play sports but do attend homework club? 3

L R NN ]
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; 4. Which graph most closely approximates the line of best fit for the scatterplot below?
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B. Thetableshowstheremﬂhofamdomsuneyufsﬂﬂentsmgmde?anﬂmﬂe&
Every student surveyed gave a response. Bach student was asked if he or she exercised
less than 6 hours last week or B or more hours last week.

Grade 7 Students 49 63
Grade 8 Students 58 51

Based on the results of the survey, which statements are true? Select all that apply.

A. More grade 8 students were surveyed than grade 7 students.

( B.)A total of 221 students were surveyed.

( C.)Less than 50% of the grade 8 students surveyed exercised 8 or more hours last week.
Mnmthanﬁﬁ%ufﬂmsmdmmmmadmmhssthanahmhstwaek

i, A total of 107 grade 7 students were surveyed.

I R . L R

Krmmm"..---'"-..-"---.'.--.E .--.E..-..--."E.-m-.zﬁ M:



Thank You For .

Ty

Uour Purchasel

1 spend A4 LOT of time creating my resources and 1 PEALLY
appreciate fhe fact that you’ve chosen to purchase one of my
products! I try to make them creative and unigue (educational, tool)
and love fo share my resources with ofner feachers! Please
rermember to leave feedoack and eam fhose TpT credits for future
purchases! To see my new products, be sure o follow me on TpT!

Kimn &

r

...remempey finat this ...copy and share this item
purchase is for YU and your | - |yt your friends or
students (single classroom colleagues.

use) . I you would like to

share it with your colleagues, ...post this item online winere
additional licenses rmay be it can be downloaded (ot
purchased at a discounted even your personal website).
e ...COpy any part of fnis
...check for updates and/or download and place it on the
additions fo this product. J infernet.

Clip Airt, Font, and

Graphics Credits:




